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NOTE: There are three sections of this paper. Carefully read the Instructions for each section and attempt
accordingly. Attempt all questions of Section-A and retum it to the Superintendent within given time,
even If you have not attempted any question. No marks will be awarded for cutting/erasing/ovenwriting.

SECTION-A

Time Allowed: 15 Minutes Max. Marks: 11

1. There are four possible answers (A, B, C, D) for each question. Select the correct one and write it in the
answer box.

f. ~ The number (1011), is equivalent to decimal number ....... [A) 11, B) 12, C) 13, D) 14].....cruisnnns
ii.  1's complement of (0010}, is ........ [A) (1110),, B) (1101),, C) (1111),, D) (Q011)5) cvviicisninincanen

jii. The boolean logical operator which inveris the value of its operandis ......... [4) AND, B) OR,
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iv. The command used to clear screen in MS-DOS is ......... [A) cls, B)del, C) deltree, D) dir]............
v. The command used for partitioning the hard disk is ......... [A) deltree, B) copy, C) fdisk, D) format]..
vi. When was analytical engine developed? [A) in 1822, B) in 1833, C)in 1844, D)in 1850]......... ..

vil. Robots are examples of ......... generation of computers. [A) 2nd, B) 3rd, C) 4th, D) 5th]................
viil. Temperature, pressure & speed are examples of ....... data. [A) digital, B) binary, C) analog, D) hybrid]..
ix. CRAY-lis an example of ......... computer. [A) micro, B} mini, C) mainframe, D) super]................. -l
X. Scanner is an exampl ... device, [A B)i ) processing, D) output].............
xi. One megabyle is equalto .. éSLm B) \C) 1057486, D) 10745886]........
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